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1- what a beautiful painting! It .............. by a famous painter.
1) must have painted 2) must have been painted
3) should have painted 4) should have painted

25U Jsgro 2L J=d olgs ay azgi b € ¥ ainS tasye plpl culw dwb M
2- | am not feeling well today at all.
1) If I am, | will go on a picnic 2) if I had been, | would have gone on a picnic
3) If I were, | would have gone on a picnic  4) if | were, | would go on a picnic

3- The puzzle was much too confusing for the child to solve. If it ..............

1) was easier, he would solve it 2) were easier, he would solve it

3) is easier, he will solve it 4) had been easier, he'd have solved it
4- | didn't pass the exam. | wish ................... Harder.

1) work 2) worked 3) had worked 4) have worked

5- Home dosen't like to go college, and Hamid .........................

1) didn't either 2) doesn't either 3) neither does 4) neither did
6- It was raining so hard, ............... he decided to go out for a walk.

1) besides 2) so 3) therefor 4) yet

7- Do you speak French? "Yes, | learned ............... in france"

1) how it to speak 2) how to speak 3) it how to speak  4) to speak it how

8- Do you mind ............. This letter for me?

1) to mail 2) mail 3) mail ed 4) mail ing

9- The doctor advised the patient ........... smoking as soon as possible.

1) stopped 2) to stop 3) stopping 4) stop

10- |1 got something for my cough from the chemist, so I .................... go to the doctor.
1) shouldn’t 2) must 3) don't have to 4) had to

11- The property was ours. It ................. TO us.

1) belong 2) belonged 3) belonging 4) dose not belong
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12- The first meeting will be in the city hall, but all ....................... Meeting will be held in the school.
1) sufficient 2) former 3) subsequent 4) incipient
13- When the technique known as gene-splicing .........c.ccceeeevuneeeeee. In the early 1970 s, it was feared that the

scientists might inadvertently create an ‘Andromeda strain’. A microbe never before seen on earth.

1) was invented 2) which invented 3) they invented 4) invented
14- The weather was .................... we went to the beach most weekends.

1) such good last summer that 2) so good last summer that

3) too good last summer to 4) good enough last summer to

15- Currently 80 percent of drugs are shot down in early clinical trials because they are not effective or

are even .......ceeeens
1) intense 2) initial 3) toxie 4) prior

16- Some oh the ................... Are endangered animals.

1) whales 2) goats 3) ducks 4) cats

17- My friend is standing .................... the students in the class.

1) down 2) among 3) about 4) away
18- Our math teacher is going to teach a new lesson .................... Monday.

1) Last 2) later 3) next 4) soon

19- Did you hear the news? They'll ........................ a bridge for the village.

1) build 2) building 3) built 4) to build

Encryption is a method of converting data into an unreadable format to prevent unauthorized access. There
are two main types of encryption: symmetric encryption and asymmetric encryption.

Symmetric encryption uses the same key for both encryption and decryption. that both the sender and the
receiver must keep the key secret. While and asymmetric encryption is generally faster and more efficient.
it poses a risk if the key is compromised.

Asymmetric encryption, on the other hand, uses a pair of keys; a public key and a private key. The public
key can be shared openly, while the private key must be kept secret by the owner.

This method enhances security because even if someone obtains the public key, they cannot decrypt

messages without the private key.

Y
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In addition to these technologies, two-factor authentication requires users to enter an additional code sent
to their mobile phone, in addition in their password. Users should also be cautious and avoid using public
networks for financial transactions.
Regularly updating software and using strong passwords can further enhance security. By following these
tips, users can enjoy online banking services with greater confidence.
20- Which security technology is commonly used in online banking?

1) Encryption 2) Sending emails  3) Phone calls 4) Physical tokens
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